

Example 1: Evaluate $\int_0^{\pi/2} \frac{\sin x}{\sin x + \cos x} dx$.
 Solution: Let $I = \int_0^{\pi/2} \frac{\sin x}{\sin x + \cos x} dx$.
 Then $I = \int_0^{\pi/2} \frac{\sin(\pi/2 - x)}{\sin(\pi/2 - x) + \cos(\pi/2 - x)} dx$.
 Since $\sin(\pi/2 - x) = \cos x$ and $\cos(\pi/2 - x) = \sin x$,
 we have $I = \int_0^{\pi/2} \frac{\cos x}{\cos x + \sin x} dx$.

* Show that $\int_0^{\pi/2} \frac{\sin x}{\sin x + \cos x} dx = \frac{\pi}{4} = \int_0^{\pi/2} \frac{\cos x}{\sin x + \cos x} dx$.

Let $I = \int_0^{\pi/2} \frac{\sin x}{\sin x + \cos x} dx$

Since $\int_0^a f(x) dx = \int_0^a f(a-x) dx$

Here $f(x) = \frac{\sin x}{\sin x + \cos x}$ and $a = \pi/2$

$\therefore f(\pi/2 - x) = \frac{\sin(\pi/2 - x)}{\sin(\pi/2 - x) + \cos(\pi/2 - x)}$
 $= \frac{\cos x}{\cos x + \sin x}$

Also $I = \int_0^{\pi/2} \frac{\cos x}{\sin x + \cos x} dx$

$\therefore 2I = \int_0^{\pi/2} \frac{\sin x}{\sin x + \cos x} dx + \int_0^{\pi/2} \frac{\cos x}{\sin x + \cos x} dx$

$= \int_0^{\pi/2} \frac{\sin x + \cos x}{\sin x + \cos x} dx = \int_0^{\pi/2} dx = [x]_0^{\pi/2}$

$\therefore 2I = \pi/2 \Rightarrow I = \pi/4$

Problem 1 Show that

Page 1

$$\int_0^{\pi} \frac{x dx}{a^2 \cos^2 x + b^2 \sin^2 x} = \frac{\pi^2}{2ab}$$

Solution Let $I = \int_0^{\pi} \frac{x dx}{a^2 \cos^2 x + b^2 \sin^2 x}$

$$f(x) = \frac{x}{a^2 \cos^2 x + b^2 \sin^2 x}$$

$$f(\pi - x) = \frac{\pi - x}{a^2 \cos^2 x + b^2 \sin^2 x}$$

$$= \frac{\pi}{a^2 \cos^2 x + b^2 \sin^2 x} - \frac{x}{a^2 \cos^2 x + b^2 \sin^2 x}$$

$$\therefore I = \pi \int_0^{\pi} \frac{dx}{a^2 \cos^2 x + b^2 \sin^2 x} - \int_0^{\pi} \frac{x}{a^2 \cos^2 x + b^2 \sin^2 x}$$

$$2I = \pi \int_0^{\pi} \frac{dx}{a^2 \cos^2 x + b^2 \sin^2 x}$$

$$= \pi \int_0^{\pi} \frac{dx}{b^2 \cos^2 x \left[\frac{a^2}{b^2} + \tan^2 x \right]}$$

$$= \frac{\pi}{b^2} \int_0^{\pi} \frac{\sec^2 x dx}{\tan^2 x + \frac{a^2}{b^2}}$$

$$= \frac{2\pi}{b^2} \int_0^{\pi/2} \frac{\sec^2 x dx}{\tan^2 x + \frac{a^2}{b^2}}$$

Put $\tan x = z \Rightarrow \sec^2 x dx = dz$
 When $x=0$ $z=0$ When $x=\pi/2$ $z=\infty$
 where $k^2 = \frac{a^2}{b^2}$

$$2I = \frac{2\pi}{b^2} \int_0^{\infty} \frac{dz}{z^2 + k^2}$$

$$= \log \left[\frac{z + ik}{z - ik} \right] = \log \left[\frac{1 - \frac{a}{z}}{1 + \frac{a}{z}} \right] = \log \left[\frac{z - a}{z + a} \right]$$

$$\therefore \frac{1}{b^2} \int_0^{\infty} \frac{dz}{z^2 + k^2}$$

$$\therefore k^2 = \frac{a^2}{b^2}$$

$$= \frac{\pi}{b^2} \cdot \frac{1}{k} \left[\tan^{-1} \frac{z}{k} \right]_0^{\infty}$$

$$\therefore k = \frac{a}{b}$$

$$\frac{1}{k} = \frac{b}{a}$$

$$= \frac{\pi}{b^2} \cdot \frac{b}{a} \left[\tan^{-1} \infty - \tan^{-1} 0 \right]$$

$$= \frac{\pi}{ab} \cdot \left[\frac{\pi}{2} - 0 \right]$$

$$= \frac{\pi^2}{2ab}$$

Problem 3

show that - $\int_0^1 \tan^{-1}(1-x+x^2) dx = \frac{\pi}{2}$

$$I = \int_0^1 \tan^{-1}(1-x+x^2) dx$$

$$\therefore dt^{-1}x = \tan^{-1} \frac{1}{x}$$

$$= \int_0^1 \tan^{-1} \frac{1}{1-x+x^2} dx$$

$$= \int_0^1 \tan^{-1} \frac{1}{1+x(x-1)} dx$$

$$= \int_0^1 \tan^{-1} \frac{x - (x-1)}{1+x(x-1)} dx$$

$$= \int_0^1 \tan^{-1} x dx - \int_0^1 \tan^{-1}(x-1) dx$$

$$\left[\int_0^1 \tan^{-1}(x-1) dx \quad \begin{array}{l} f(x) = x-1 \\ f(1-x) = 1-x-1 \end{array} \right] \quad \text{Page 11}$$

$$= \int_0^1 \tan^{-1}\{(1-x)-1\} dx$$

$$\begin{aligned} \therefore I &= \int_0^1 \tan^{-1} x dx - \int_0^1 \tan^{-1}(x-1) dx \\ &= \int_0^1 \tan^{-1} x dx - \int_0^1 \tan^{-1}\{(1-x)-1\} dx \\ &= \int_0^1 \tan^{-1} x dx - \int_0^1 \tan^{-1}(-x) dx \quad \because \tan^{-1}(-x) = -\tan^{-1}x \\ &= \int_0^1 \tan^{-1} x dx + \int_0^1 \tan^{-1} x dx \\ &= 2 \int_0^1 \tan^{-1} x dx \end{aligned}$$

Now integrating by parts

$$\begin{aligned} &= 2 \left[x \tan^{-1} x \right]_0^1 - 2 \int_0^1 \frac{x}{1+x^2} dx \\ &= 2 \left[1 \cdot \tan^{-1} 1 - 0 \right] - \int_0^1 \frac{2x}{1+x^2} dx \\ &= 2 \frac{\pi}{4} - \left[\log(1+x^2) \right]_0^1 \\ &= \frac{\pi}{2} - \left[\log(1+1) - \log(1+0) \right] \\ &= \frac{\pi}{2} - \log 2 \end{aligned}$$

Problem 4 Evaluate

page

$$\int_0^{\pi/2} \log \sin x \, dx$$

Let $I = \int_0^{\pi/2} \log \sin x \, dx = \int_0^{\pi/2} \log \sin(\frac{\pi}{2} - x) \, dx$

$$= \int_0^{\pi/2} \log \cos x \, dx$$

$$\therefore 2I = \int_0^{\pi/2} [\log \sin x + \log \cos x] \, dx$$

$$= \int_0^{\pi/2} \log [\sin x \cos x] \, dx$$

$$= \int_0^{\pi/2} \log \frac{\sin 2x}{2} \, dx$$

$$= \int_0^{\pi/2} [\log \sin 2x - \log 2] \, dx$$

$$= \int_0^{\pi/2} \log \sin 2x \, dx - \log 2 \int_0^{\pi/2} dx$$

$$= I_1 - I_2$$

$$I_1 = \int_0^{\pi/2} \log \sin 2x \, dx$$

Putting $2x = z$
 $2dx = dz$

When $x=0$ $z=0$
 $x=\pi/2$ $z=\pi$

$$2I = \frac{1}{2} \int_0^{\pi/2} \log \sin x \, dx - \int_0^{\pi/2} \log \cos x \, dx$$

$$= \frac{1}{2} \times 2 \int_0^{\pi/2} \log \sin x \, dx$$

$$= I$$

$$I_2 = \log 2 \int_0^{\pi/2} dx$$

$$= \log 2 \left[x \right]_0^{\pi/2}$$

$$= \frac{\pi}{2} \log 2$$

$$\therefore 2I = I - \frac{\pi}{2} \log 2$$

$$\Rightarrow I = -\frac{\pi}{2} \log 2 = \frac{\pi}{2} \log \frac{1}{2}$$

Problem Show that $\int_0^{\pi/2} \log(\tan x) \, dx = 0$

$$I = \int_0^{\pi/2} \log(\tan x) \, dx = \int_0^{\pi/2} \log(\cot x) \, dx$$

$$= \int_0^{\pi/2} \log(\tan x)^{-1} \, dx$$

$$= - \int_0^{\pi/2} \log(\tan x) \, dx$$

$$\Rightarrow 2I = 0$$

$$\therefore I = 0$$

Show that: $\int_0^1 \frac{\log(1+x)}{1+x^2} dx = \frac{\pi}{8} \log 2.$

$$\int_0^{\pi/4} \log(1+\tan \theta) d\theta = \frac{\pi}{8} \log 2.$$

Put - $x = \tan \theta \Rightarrow dx = \sec^2 \theta d\theta$

When $x=0$ $\theta=0$

When $x=1$ $\theta=\pi/4$

$$\therefore I = \int_0^1 \frac{\log(1+x)}{1+x^2} dx$$

$$= \int_0^{\pi/4} \frac{\log(1+\tan \theta) \sec^2 \theta d\theta}{\sec^2 \theta}$$

$$= \int_0^{\pi/4} \log(1+\tan \theta) d\theta$$

$$= \int_0^{\pi/4} \log \left[1 + \tan \left(\frac{\pi}{4} - \theta \right) \right] d\theta$$

$$= \int_0^{\pi/4} \log \left[1 + \frac{1-\tan \theta}{1+\tan \theta} \right] d\theta$$

$$= \int_0^{\pi/4} \log \frac{2}{(1+\tan \theta)} d\theta = \log 2 \int_0^{\pi/4} d\theta - \int_0^{\pi/4} \log(1+\tan \theta) d\theta$$

$$= \log 2 \left[\theta \right]_0^{\pi/4} - I$$

$$\therefore 2I = \frac{\pi}{4} \cdot \log 2$$

$$\therefore I = \frac{\pi}{8} \log 2$$

Evaluate $\int_0^{\infty} \log\left(x + \frac{1}{x}\right) \frac{dx}{1+x^2}$

Let $I = \int_0^{\infty} \log\left(x + \frac{1}{x}\right) \cdot \frac{dx}{1+x^2}$

Put $x = \tan \theta \Rightarrow dx = \sec^2 \theta \cdot d\theta$

When $x = \infty$
 $\theta = \tan^{-1} \infty = \pi/2$
 When $x = 0$
 $\theta = \tan^{-1} 0 = 0$

$$= \int_0^{\pi/2} \log\left(\tan \theta + \frac{1}{\tan \theta}\right) \frac{\sec^2 \theta d\theta}{\sec^2 \theta}$$

$$= \int_0^{\pi/2} \log\left[\frac{1+\tan^2 \theta}{\tan \theta}\right] d\theta$$

$$= \int_0^{\pi/2} \log\left[\frac{1}{\sin \theta \cos \theta}\right] d\theta$$

$$= - \int_0^{\pi/2} \log \sin \theta d\theta - \int_0^{\pi/2} \log \cos \theta d\theta$$

$$= - \int_0^{\pi/2} \log \sin \theta d\theta - \int_0^{\pi/2} \log \sin \theta d\theta$$

$$= -2 \int_0^{\pi/2} \log \sin \theta d\theta = -2 \cdot \frac{\pi}{2} \log \frac{1}{2} = \pi \log 2$$